
Spiel 1 Spiel 2 Gesamt

Spiel 107 12:13 D 1 Lehner Anna 48 + 37 = 85

D 2 Ekker Elfriede 43 + 35 = 78

Spiel 108 12:21 D 3 Aschauer Rosa 40 + 53 = 93 #

D 4 Gruber Augustine 44 + 39 = 83

Spiel 109 12:29 D 3 Aschauer Rosa 50 + 42 = 92

D 1 Lehner Anna 36 + 35 = 71

Spiel 110 12:35 D 2 Ekker Elfriede 37 + 40 = 77

D 4 Gruber Augustine 42 + 41 = 83 #

Spiel 111 12:42 D 4 Gruber Augustine 36 + 50 = 86

D 1 Lehner Anna 49 + 37 = 86

Spiel 112 12:49 D 2 Ekker Elfriede 40 + 29 = 69

D 3 Aschauer Rosa 41 + 58 = 99


